Homework &

Thursday, September 17, 2015 9:30 AM

Due cluss ’murg&o:\j /24,

mﬁ@\(\&i&&( e “\nea( ‘l’fO\V\SQ’ON\/\a\*SOr\ 42 E |R:>""|Rs Si ven \0\5
g(xm,—z> = <‘3ng XYY AE:, X -

EX\@ress L as a 3D madsix.
L What s 4+ (x ,5):,_») <

©) o) Let -39'- R*— R be o linear -\—mmspo{ motion with

£lo,),x)=0,0,2
£(0,0,0) =U,1,%).
Gve oo B33 wodix dor § Whak ¢ $(a,-1,) ?
VW) Let a: R*—R’ be o lineor -\—m\vsaé\-o/vv\ac'\’ior\ Wit
5?\,2,-!5 =(1,0,0)

A, 0,20= (0, 1,0)
4 (1,,8) = (0,0,
Crwve o 3x3 wodinx for o Lower e 6(”‘;5)(03?.
D Lexr W IR*—=R* be &?ineaf +romsPormodion wyrva
Wi, 2,-D = () a,2)
1’\(\,OJ ) = (q)S/C‘O
WOy, 1, = (3,80,
(>we oo x5 modink Lor . b\)\l\o\}r S \,\CH/ S, Co) ¢

@ B& »\O\V\A\ (V\O‘\’ u‘s'\i\s o COW\\OU\'\'e/>j ‘P\‘nak a\” r:(ﬂmow\/ial\s
(D)= a+bx+cex +dx*

Hrod- mﬁ% FO)=9\) bo’(3>=’ andl f"(oz)=®,

@ \/Q\I\ic\l\ O‘(\' ‘\’\’\Q QOUOUO‘\V\SM veckor 5’06\(‘,65 ?
In enc\n cone 5 exylain A /(,Q\u3 vk |
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Avh & s a vector syoace 6\\1@ Hae Adimenstion and. A basis.
o) the set R of read wumbers

V) e set of solutions  (x,,%) 4o the QCi\)O\HO\/\g
QX\ + 2 X = O
2x, —A XL = 2

c) the set of soluhona Cx\)x,) +o Hhe a\\)a\‘n’on
X\ X, = O

i) e Sfans o\a Hhe vectors
CQ\)‘SJ‘%> ) C‘l)’\) /L{) and CO) ’)""D

e) the set c*? anri-sammerric  4xY wodrices
G‘eca\\? o\moc\'/ix\;\) s awxﬁ:sdmmehic e AT=’A>

() Determine whida of the @g\\omig seks of vectocs are \'meomB
'\r\d\e\oevxdevxk. For those seks Hhot o \\'r\ea(g &fea&u\{* , write ove
of Hre weddors as & lnear comonation of e otwers.

D 30,24, (a1, 0, (1,8,

D (2,9, (0,4,8), (0.0,6), (11,13
Dz a ), (oo), ()8
D522 (26, (20 2 Df

o /] O
L 2 g 2
o |, o l o
4 4 |l , | 4
O [ O 0)
> 3 3 2
O 0 o |

(@ Derermine the dimension of Hae space SK’O‘““QA‘ \35 Hre ser

T8
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@ Determine wnetner of not the set
B=3a,3a), (1,,-DE
is o basis for the space s amvied. by Hhe st
A=230,2,3), fS)P,@) Czﬁ, NS

@ For ¥he wadrix

oo '~ Vu ik

O Lo Wy Vy Vs

OO 1 vy Y3 /s

A=\g9g 7 % %
vy V3

0 S 1 e v

deternnine A*°°.

Fusy do the calewladion in Mardab. Then do Hae sawe.
cox\cm\m\'id\r\ \o\\.} \I\O\V\8\) 8\;\5’(25’3&% UO\I\ﬂ Hie answer is corceek .

@) Give o basis for Hhe sex of Lx2 wadsices.

\d> (n Yems of the same vasis, 6\\(@ Ywe watrix
Lor the o‘;eroéror Haod mogs oo v x A +o

(L2)n

c> (GAYe oo C.OMY\Q\'Q‘\AS D“Ff'creﬂ-\' bagvs for 2%
wakrrices Han Hae sne Yown used v (O No
element 030 Hre new boars showld be yro,oxﬁmm\
to an element off the old Losrs.

Spetrfu the. 44 modnx ot c\/\aﬂas From
the ol Toss From pork O to Hhe vnewd bosis.
St Cc'@ Hae wodrix Hhod Q/\Aﬂ»\\@&s Vewk . Moke
sSwe &ovx(‘ votohon s clear.

D Using the Vasis chowoe motrrices from poct (O,
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& (l/st%ofﬁ\e Vasis c\,\o\v\o\e, wodrcices from PN"’@)
recomfube the ow\suoecs to yoH'

As "‘lwoﬂﬁs sho R Yo werk

.m) Consider He spae of po &novw\ox\s in X of d@/ee,
al moskt S (Qwat is the dimension o=F- s
spoce? Give o siwyle basts for i

&D Do the came for Y%vmv\m\_s apoqf@/tc at most G .

<—> ULSQ“) the above bases Sme, e, warnt7ix Hot
f‘e(r&sem—s W\U\H’\:g vathon L\(ﬁ EAY S

4) Look wp on (/0\}_\ edin. Cl hey \o V\om\a\ls

Pre st bind Kz\ow\% octs @ @ (As|®
Hece po &wow\\ods for YW Loses.
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